b) (This subtask is from August 2019 exam). Let 7 : N — R be a function that satisfies the

following two conditions:
T(n)>4-T(3)+3n  whenever n is divisible by 2;
T(1) = 4.

Prove by mathematical induction that

* T(n) > 6n% — 2n L ?‘-om “‘o P\'DUQ:)

holds whenever 7 is a power of 2, i.e., n = 2F with k € Ny.
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b) Induction: Consider the sequence {L,}n>1 defined via L1 = Ly = 1 and the recurrence

— Lyt1=L,+2L, ; forn >2.
/' Show that for all n € N'\ {0}, the following equation holds:

i 2""*. L} = LnLn41.
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